MIAMI-DADE COUNTY, FLORIDA

MIAMI-DADE METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Florida Storm Protection Accordion Mfg., Inc.
16215 S.W. 117" Avenue (#2A)
Miami, Florida 33177

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code. '

DESCRIPTION: “HPMA / Performance System 1 ” Aluminum Accordion Shutter

APPROVAL DOCUMENT: Drawing No. 06-110, titled “ Performance System 1 Accordion Shutter ”, sheets 1
through 6 of 6, prepared by Tilteco, Inc., dated May 04, 2006, signed and sealed by Walter A. Tillit Jr., P.E.,
bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and
approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1, evidence submitted page E-1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.
TP /7f % M\/ NOA No 06-0804.05
) Expiration Date: 04/03/2012
Approval Date: 04/03/2007

04./03/1,007 Page 1




Florida Storm Protection Accordion Mfe., Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1. Drawing No. 06-110, titled ** Performance System 1 Accordion Shutter ”, sheets |
through 6 of 6, prepared by Tilteco, Inc., dated May 04, 2006, signed and sealed
by Walter A. Tillit Jr., P.E.
B. TESTS
1 See Association’s generic approval under 05-0323.

C. CALCULATIONS

1.

See Association’s generic approval under 05-0323.

D. QUALITY ASSURANCE

I

By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS

1.

See Association’s generic approval under 05-0323.

F. STATEMENTS

Release letter issued by the Hurricane Protection Manufacturers Association, dated
April 18, 2006, certifying this product to meet the criteria of product tested and
approved, and allowing Florida Storm Protection Accordion Mfg., Inc. to use the test
results approved under Miami-Dade County Approval No. 05-0323, signed by My.
Jeffry T. Robinson.

Acknowledgment letter by Florida Storm Protection Accordion Mfg., Inc., dated June
26, 2006, signed by Mr. Juan O. Arias.

Letter by Tilteco, Inc., dated July 17, 2006, certifying that the drawing (No. 06-110)
prepared for Florida Storm Protection Accordion Mfg., Inc., signed and sealed by
Walter A. Tillit Jr., P.E., is engineering wise identical to Hurricane Protection
Manufacturers Association, Inc. generic drawing (No. 05-118).

Acceptance Letter issued to Mr. Juan O. Arias on April 03, 2007, and returned signed
by Mr. Juan O. Arias on April 03, 2007, indicating to please issue the proposed
Notice of Acceptance as submitted and reviewed.

;JU&«M M

myA Makar, P. E., M.S.
Product Control Exammer
NOA No 06-0804.05
Expiration Date: 04/03/2012
Approval Date: 04/03/2007



% — 2 ——1.903"
J I:l'7 . . . .
] ) 080" —|—062"  y.¢ .
1 T 903 % I §1 48 .062°] —.,ﬁf 148 N
g 075"~ ' 075" ] 1075”— T s b : J’ | ] i '8 o°'f
M ’ 1.250"~— ™ .ﬁ . . 078" 8 5 Lo . .] H 591 X
L . : 3 UL S s LT L
N Jeol &1 -‘7"4T 3 il I S N | Y : 8 &
I T \ 080 T
} I --os6* '§ ]___ o“.‘jt 470" g4 .ma‘ge’ 7517 11,149 —
505~ -fgg;,-—r. el .505"eq '—&_‘_.7:2:74'1. il lJl_\ —.—7-711_8;21'6d
: 2.474" t *
. ] -3.234"
(A WALL HEADER (& INVERTED) CEILING HEADER T © WAL SILL ®© FLOOR SILL
SCAE : 3/8° = 1° SCALE : Y/8" = 1" SCALE : 3/8° = 1* SCALE : 3/8" = 1"
—1.338" 2.362"
1.591" 5917~ —1.191" i 055"
.gegu ~— -ﬂ]' -%‘g. il ‘] ]— —-i1—.080" ) ﬂ[
.L 1
- AN 068 'é g % 'é "é 2,075 %
§& g4 e R I ? § %,_' =380 ‘ . B
2 T T' -~ , i T LW !b '53
- Lol -—-3:‘3,.9 Lz — —l—.674"— ! 2 R s i X L
3.879 I 500" L 1 3
3.700" § —1.500"— 8 380"
FLOOR SILL ‘
g : "= 1 & ADJUSTABLE SILL ADAPTOR ® 90° STARTER ED 180" MALE STARTER
02 THRESHOLD TRACK sout : at e 3e scuz: 378 = 1 s 38" = 1°
SCALE : 3/8% = 1*
5.074" 4.371"

0515 .: : 8 ‘53"' I— .og;—-f— I ! ‘5'5’.
.ﬁ‘é § g;}ﬁ ‘h':' ! -: : - é .I 'll J . "
v v, o ..Q‘;' 8 "6 -.085° %% ] 8 510

3.318"

@) MALE/FEMALE BLADE

SCALE: 3/8° = 1"

- 125"

2,000 ™

(2HOLES FOR

b————5" Mox. AS APFLICABLE-

(DALUMINUM ANGLE

SCALE: 3/8" = 1°

-.250"

2.000"—

SCALE; 3/8" = 1°

NS

G) MALE/MALE BLADE

21,344 "

() BRASS NICKEL PLATED
PUSH BUTTON LOCK

7.000" Mox, AS APPLICABLE

@) ALUMINUM ANGLE

SCALE; 3/8" = 1*

(H) FEMALE CENTERMATE BLADE (H) MALE CENTERMATE BLADE

SCALE: 3/8" = 1”

SCALE: 3/8" = 1”

5/18"-18 S.SM.S.

2137
& . 4
T ™I
1 PLAOS:,TIL‘
i ! ! .
—1.500"8— %

5/16"8x1" S.S.M.S.

//PLASTIC KNOB LOCK

g gg’u\. F"Q’
= p. -
— —l 718" L
®) LOCKING PIN (L) INTERIOR HANDLE
(OPTIONAL) ‘ (OPTIONAL)
SCALE: 3/8° = 1" SCALE: 3/8" = 1

COMPONENTS

JUL

1 7 2006

GENERAL NOTES:

1. ACCORDION SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT HAS BEEN VERIFIED FOR CODE COMPLIANCE N
ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE: MENTIONED CODE. IN ORDER TO VERIFY
THAT ANCHORS ON THIS PAD. AS TESTED, WERE NOT OVER STRESSED, A 33X INCREASE IN ALLOWABLE LOADS FOR WIND
LOADS WAS NOT USED IN THEIR ANALYSIS. HOWEVER, FOR LAG SCREWS INTO WOO0D, A 1.60 WIND LOAD DURATION FAGTOR
WAS USED TO CALCULATE SCREWS SPACINGS.

ACCORDION SHUTTER'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WﬂH SEC770N
1609.1.4 OF THE ABOVE MENTIONED CODE PER TAS-201, TAS-202, AND TAS~203 AS PER CIL REPORT N° 0O

2, STAINLESS STEEL SHEET METAL SCREWS USED AT LOUVER PIN SHALL BE § 14 x 3% 410-HT MINIMUM SE'RIES W/
135.0 ksi YIELD STRENGTH & 180 ki TENSILE STRENGTH. SCREWS SHALL BE COATED WITH XYLAN 5000 SER
FLUOROFPOLYMER COATINGS -AS MANUFACTURED BY WHITFORD Co, BOX 507. WEST CHESTER PA. 19381.
3._ A‘é.sLaALkUMINUM EXTRUSIONS SHALL BE 6061-T6, B005~T5 OR 6105-T5 ALLOY WITH MINIMUM YIELD STRENGTH OF
y= i,
4. ALL SCREWS TO BE STAINLESS STEEL J04 OR 318 _SERIES W/ 50 ksl YIELD STRENGTH AND 90 ksi TENSILE STRENGTH
aR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018,
5. ALL ALUMINUM POP RNETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL,
6. BOLTS TO BE 2024-~T4 ALUMINUM ALLOY GALVANIZED OR STAINLESS STEEL WITH 35 kai MINIMUM MINIMUM YIELD STRENGTH.
7. ANCHORS TO WALL SHALL BE AS FOLLOWS:- (UNLESS OTHERWISE NOTED)
(A) TO EXISTING POURED CONCRETE:
= 1/4" @ TAPCON AND 1/4"8 MAXI—SET TAFCON, AS MANUFACTURED BY LT.W. BUILDEX.
= 1/4" # CRETE FLEX S54 ANCHORS, AS MANUFACTURED BY ELCO TEXTRON.
~- 1/4" 8 x 7/8" CALK~IN ANCHORS AS MANUFACTURED BY POWERS FASTENERS, INC.
NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS AND CRETE FLEX SS4 ANCHORS INTO CONCRETE IS 1 3/4",
A2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
1/4" #-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST.
A3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL
FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHMIND SUCH PANELS.
ANCHORAGE SHALL BE AS INDICATED ON NOTES A1 & A2 ABOVE.

(B) TO EXISTING CONCREIE BLOCK WALL:
~ 1/4" 6 TAPCON AND 1/4"8 MAXI~SET TAPCON, AS MANUFACTURED BY LT.W. BUILDEX,
— 1/4" & CRETE FLEX S54 ANCHORS, AS MANUFACTURED BY ELCO TEXTRON.

~ 1/4" & x 7/8" CALK-IN ANCHORS AS MANUFACTURED BY POWERS FASTENERS, INC.

NOTES:
B.1) MINIMUM EMBEDMENT oF TAPCON ANCHORS, AND CRETE FLEX SS4 ANCHORS INTO THE CONCRETE BLOCK
UNIT SHALL BE 1 1/4"
B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT
INTO. STUCCO SHALL BE PERMITTED.
1/4 #-20 SCREWS ussa SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST AND 1" MINIMUM FOR
ALLS WITH NO STUCCO.

B.3) IN CASE THAT PRECAST sro~£ OR PRECAST CONGRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEMIND SUCH PANELS. ANCHORAGE S
BE 1 1/4" MINIMUM FOR ANCHORS MENTIONED IN B.1.), & 7/8" FOR ANCHORS MENTIONED IN 5.2, )

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE
ANCHOR'S MANUFACTURER.

8. SHUTTER'S COMPONENTS ARE PATENT PENDING.

9. IT SHALL BE THE RESPONSIBIUTY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHMUTTER
:fD org BE AI_TA,{.‘HEgI ZOS.INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCREIE, BLOCK OR
FRAME BUILDIN

10. A PERMANENT SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE FEMALE
CENTERMATE BLADE (COMPONENT )

ONE LABEL SHALL PLACED FOR Y OPENING LABEL SHALL READ AS FOLLOWS:

"PERFORMANCE SYSTEM 1 ACCORDION SHI

FLORIDA STORM PROTECTION ACCORDION MFG, INC.

MIAMI, FLORIDA

MIAMI-~DADE COUNTY PRODUCT GONTROL APPROVED.

11. (a) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED By THIS ENGINEER
IS GENERIC AND DOES NOT PROVIDE INFORMATION A SITE SPECIFIC PROJECT:

Le. WHERE THE SITE CONDITIONS DEVIATE FROM THE PAD. Approves an coanplylog with the

Florida Bejdis gi,m*l@
Date. O
NOAE oéf.. SHOo -QS'

M‘iamn @‘s@u £ Prnd

(Ieé‘ TCDNTMCTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND
[
;I:IR%#‘D,IEA.‘I)G LIFE SAFETY OF THIS PRODUCT BASED ON THIS PRODUCT APPROVAL

HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.
CONSTRUCTION SAFETY AT SIHE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS FRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED
ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR
THE FROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D.
ENGINEER OF REGORD, ACTING AS DELEGATED ENGINEER TO THE P.A.D. ENGINEER,
SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIG DRAWINGS FOR REVIEW.

g’e) THIS PAD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE
ROFESSIONAL ENGINEER THAT PREPARED 1T,

F.B.C. (High Velocity Hurricane Zone)

PERFORMANCE SYSTEM 1 ACCORDION SHUTTER DR‘:’z g
FLORIDA STORM PROTECTION ACCORDION MFG, INC. 8/4/06
iLlEco oot
INC. 18215 sw 117TH oniNgg' UNIT #24
LT TESTING & ENGINEERING COWPANY PHA305) ) e S5 Pk (30506 71-9.384 06-110
. Phose m}angéa_agmga;m(m)m-:m rra e R DESCATION DATE DRAWING No
WALTER A, TILLIT Jr, P. E. , - - 3 = -
FLORIDA Lic. e 167 s = = < = | SHEET 1 OF 6




POURED CONCRETE

CONCRETE ANCHORS
(SEE SCHEDULE)

500"

OR CONCRETE
BLOCK WALL
REQUIRED

—@

(SEE SCHEDULE)

F14x3" 55 5 MS
W/ 7/16" @ x 1/8" LONG
NYLON BUSHING (Typ. TOP
& BOTTOM)

# 14x2°8 S

S. M. S. (Typ.
TOP & BOTTOM)

— -k

CONCRETE ANCHORS POURED CONCRETE
\ REQUIRED

4

:
i RS

EDGE OF SLAB
IF APPLICABLE

#14x 35 S 5 M
S. W/ 7/16% # x 7/8"
F:llq LONG NYLON BUSHING

. |
1 : s
! A= ‘ ' \7 : : | (Typ. TOP & BOTTOM)
] T
Il H é ! it e
f K P ! I 1] 3
Q ' b3
| | LI & 11 11}
| ¥ i | I 1] §
u I N .
: } & = \g ;4;; z(ryf,'.;
TOP & BOTTOM
| SEE SCHEDULE ’_@W' @ [ @
[——FOR Min. SEPARATION—1 or
| 10 GLASS SEE_SCHEDULE |__
’ l FOR Min.
| |
; /A !
| % | h
|
| | /-
} I
| |
! |
f l ]
| | N HEF
: i i .
[ 1} & H
' 1 |3 | I HAE
/ i 118 f | | i
R l T i gih
Il i1 [ L‘I:J T OPTIONAL
[ 1 im| 1 USHING
] OPTIONAL ' 5 TOP,/BOTTOM)
I JJ ~~~-BUSHING ! | I #14 x 3/4* S. S.
b TOP/BOTTOM) | SM S. © 12° 0. C.

POURED CONCRETE

OR CONGRETE CONCRETE ANCHORS
BLOCK WALL
BLOCK W (SEE SCHEDULE)

ALL UNTING

INSTALLATION
SECTION A

SCALE : 3/8" = 1"

POURED CONCRETE -/
REQUIRED

le—— EDGE OF SLAB
IF APPLICABLE

CONCRETE ANCHORS
(SEE SCHEDULE)

CEILING & FLOOR

SECTION B

SCALE : 3/8" = 1*

CONCRETE ANCHORS
(SEE SCHEDULE) \ REQUIRED

POURED CONCRETE

(SEE SCHEDULE)

EDGE OF SLAB
IF APPLICABLE

vz
/*;041'74//// frrrss s

W/ 7/16" @ x 7/8" LONG
NYLON BUSHING (Typ. TOP

|
i - % BOTTOM)
| | M ornow
| [ i BUSHING
| . oo TN
| ] i |8
I ik
I s
I 1
[ y
| - = \ £ 14 x 2" S. S
| S M S (Typ.
| TOP & BOTTOM)
__l SEEFngH‘I;:%ULE . -—@or @
| SEpARATION
| TO GLASS
f
! Vi
|
| %
|
I
!
i
|
!
|
| M
| H Ir—:
| H .
| AE
o |
| Lt
| I e

|=—- EDGE OF SLAB
{F APPLICABLE

7

POURED CONCRETE
REQUIRED

CEILING & FLOOR
MOUNTING INSTALLATION

CONCRETE ANCHORS
{(SEE SCHEDULE)

SECTION B1i

SCALE : 3/8" =

"

CONCRETE ANCHORS—\

POURED CONCRETE
REQUIRED 7

|«—EDGE OF SLAB
IF APPLICABLE

#14x3°5 5 5 M

S. W/ 7/16" ¢ x 7/8"
LONG NYLON BUSHING
FII* (Typ. TOP & BOTTOM)

Ll
SEE SCHEDULE
FOR Min, f—
SEPARATION
TO GLASS
M

SSS

EFE--——=1
250" Max.

OPTIONAL
BUSHING
TOP/BOTTOM)

£ D
—~EDGE OF SLAB
/ IF APPLICABLE

|4
CONCRETE ANCHORS——/

(SEE SCHEDULE)

SECTION B2

SCALE : 3/8" = 1"

POURED CONCRETE

REQUIRED

F.B.C. (High Velocity Hurricane Zone)

gL 17 2006

)

PERFORMANCE SYSTEM 1 ACCORDION SHUTTER DR‘;’:" ar:
FLORIDA STORM PROTECTION ACCORDION MFG, INC. 5/4/06
ILIECO f 12 uE
o 15215 Sk T 5 D 4
JULIT TESTING & ENGINEERING COMPANY | PH.:(305)971-9383, FAX{(305)971-9384 06-110
Fhana : (305}371551?80.0?;’:9(305)6 71=1531 ) DESCRIPTION Dare | AEV. No DESCRIPTION DATE DRAWING No
WALTER A, TILUT Jr. P._E. ) - - 3 - -
FLORIDA Lic. # 44167 " = 5 - — sHEET 2 OF 6




POURED CONCRETE
OR CONCRETE

gLocx WALL

EQUIRED . cONCRETE ANCHORS
(SEE SCHEDULE)

@ 9”0 C

il

17 Min:
-—m—-fso-—-
i

.
!

L pourep concreTe
OR CONCRETE BLOCK
WALL REQUIRED

B
||
11 II
o EIN
! | |1
! | i1
! O I
f L )
I
I
SEE SCHEDULE
FOR Min. SEPARATION—
| 70 GLASS
I
|
I
l /
I
|
|
]
I
l m
| Il & 82
| I I1]88
I §"
| l | { | . 9
] HEE
It ] 1
I

=3
_H

1/4" @-20 5. . BOLTS
W/ NUT & WASHER @ 9° 0. C.
OR #14 x 3/4" 5. M. S.

i F14x 38 S s
M. S W 7/16" 4 x
(3 7/8" LONG NYLON

F 3 dusrine (Typ. TOP &
[ |BO77‘0M)

\[741(2"5.5.

S. M. 5. (Typ. TOP
& BOTTOM)

~—©or @

L

TOR/BOTTOM)

® 9" 0. C.

CONCRETE ANCHORS
(SEE SCHEDULE)

BUILD—~QUT INSTALLATION
~ SECTION C

SCALE : 3/8" = 1*

7° Min
1/4" #-20 S. S, BOLTS
W/ NUT & WASHER @ 9°
OR f14 x 3/4" S. M. S.

0. C.

POURED CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

CONCRETE ANCHORS —|
(SEE SCHEDULE)

1/4" #-20 5. S.
BOLTS W/ NUT &

/’ WASHER @ 9" 0. C.

/

—D

SEE SCHEDULE
FOR Min. SEPARATION—
TO GLASS

R n

CONCRETE ANCHORS —~1
(SEE SCHEDULE)

POURED CONCRETE —— /
OR CONCRETE BLOCK
WALL REQUIRED

#1453 5 5 S M
S. W/ 72/16" ¢ x
7/8" LONG NYLON
BUSHING (Typ. TOP &

1 BOTTOM)

C

N— g 14x 25 s
S M. S (Iyp. TOP
& BOTTOM)

@ @

NS

]

2507 Mox.
& BOTTOM

E
&
]
{

OPTIONAL

BUSHING
TOP/BOTTOM)

#14 x 3/4” 5. M. S
0 12" 0. C.

NN

BUILD—-OUT INSTA
= SECTION C1

SCALE : 3/8" = 1"

1/4" 8-20 5. S. BOLTS

W/ NUT & WASHER @ 3" 0. C.
OR f14 x 3/4" 5. M. S.

® 90 C

TION

3
POOP||\[O> & [O®
| ,
é T |
%V %‘////
g
5y ©pr G

@@@@

or@OR“/ ‘ >

® +® or6)or@

|
>>@I >

>

TOP / BOTTOM (OPTIONAL)

TYPICAL ELEVATION

N T. 8

or@
or{?p)

L— SEE NOTES ON SHEET
F 6 FOR LOCKING

F.B.C. (High Velocity Hurricane Zone)

/TiLlECO me. \

TILLIY TESTING l’ ENGINEERING COMPANY

8335 NW. J6h. St,

Phene : .mian 130 . Fax (.105)87I 1831
EB~0006719

WALTER A, TILLIT Jr. P.

FLORIDA Lic. # 44167

33168

2 -

4

PERFORMANCE SYSTEM 1 ACCORDION SHUTTER DRA:Z e
FLORIDA STORM PROTECTION ACCORDION MFG, INC. 5/4/06
o 17) DATE
18215 SW 117TH AVENUE, UNIT #2A
MIAMI, FLORIDA 33177 06—-110
PH.:(305)871-9383, FAX:(305)971-9384
REV. No DESCRIPTION DATE | REV. We DRAWING No
. - = = SHEET 3 OF 6




T R ONCRETE NOTES FOR LOCKING OF ()& @)

1—-PUSH BOTTOM LOCK\J)MAY BE USED FOR INSTALLATIONS
SECURED FROM THE OUTSIDE OR INSIDE -OF SHUTTER.
WHEN INSTALLING@FR M THE_QUTSIDE, A 7/8"@ HOLE
SHALL BE DRILLED AT@AND@MUST BE RIVETED FROM
THE BACK OF TO THE FRONT W/ (2)3/16"2 ALUM. POP
RIVETS. A @sﬁ HOLE MUST THEN BE DRILLED AT@

CONCRETE ANCHORS
& 18" 0. C

CONCRETE ANCHORS
@ 18" 0. C

ALLOW FOR TO PASS THRU.
WHEN INSTA FROM THE /NS/D%MUST BE RIVETED

- ’ f14 x J/4° S, M. S. OR W/(2)3/1678 ALUM. POP. RIVETS. A 3/8"@ HOLE
%g ; A;,E”‘g pop MU THEN BE DRILLED THRU (H)AND TO ALLOW FOR
- G (J)S PIN TO PASS THRU.
A

I%1" OR 1%2" OR 1 1/2" x 1 2-5/16"%1" LOCK MAY BE USED ALTERNATIVELLY TO(J)LOCK

Min. SEPARATION
70 _GLASS
ob
®
S)
g
®
N
8
|
é

SEE SCHEDULE FOR

POURED CONCRETE —
REQUIRED

7/22'; OR 11/2" x 2" OR 2! FOR /NSTALLATI S SECURED FROM THE OUTSIDE OR INSIDE
) R xS R X OF SHUTTER, IN.THIS CASE, A 5/16"9 HOLE SHALL BE
Y-l : DRILLED THRU AND HOLE DRILLED TO () SHALL BE
\ TAPPED TO ACCEPT 18 THREADS PER INGH MACHINE SCREW.
J/8"6 HOLE FOR .
(LOCAHON VARIES) (LOCATION VARIES) 1"%1" OR 12" OR 1 1/2" x 1

1/2° OR 1 1/2* x 2" OR 2°

x2"0R 2" x 3"OR 2" x 4"

OR 2° x 5" x .055" Min. THICK
Alum. ANGLE

— CONCRETE ANCHORS @0"‘ Oﬁ @0'*
® 18° 0. ¢
©+ ® )

— POURED CONCRETE

D REQUIRED
N5 :
—® 1

#14 x 3/4" 5. M. 5. OR
J/16 @ ALUM. POP
RIVET @ 9" 0. C.

e CONCRETE ANCHORS
® 9°0 ¢

— POURED CONCRETE
REQUIRED

(SEE NOTES) (SEE NOTES)

Dor @)
(see nores)  SECTION D1 (& MULTIPLE SHUTTERS)

SCALE : 3/8" = 1*

END CONNECTION DETAIL

SCALE : 3/8" = 1" SCALE : 3/8" = 1"

2" % 2" x .125"
OR 3" x 3" x 090"
Alum. TUBE POST

“x2° *x 2* . 3/16™ @ Alum. POP. (6063-T6 ALLOY)
2" x 2° x 125 2" x 2 x 125 (1)
@—\ ALUMINUM TUBE \ ALUMINUM TUBE \ RIETS San(g; )” x 34" 2" Bz_sz" ¥ 125" x
T TUBES® SIZE
Alum, ANGLE

(2 REQUIRED)

N #14 x 3/4 5. 8. _jl_

Aégpmvﬁﬂ BE £ %f Tng while s
08 o S g : \ —2 u mmm Buleth
PLEAA ’;T}%m ¢ - ' — 1" x 1" x .062° r o, A, aoGLE N@A%
- € (Typ. Cont. Alum, ANGLE ' \ - Aum: EDGE OF SLAB p
2" x 2" x 125" . P14 0 3405 S CONCRETE ANCHORS M&m& @w} g ¥
ALUMINOM TUBE i 414 x 3/4°S. S, i 5 M S OR 3/16" ¢ E8 aneLe "

SECTION E um. PR RTS © [\ k. For niTs 0 SOMETRIC
9'0 ¢ (Typ.)
SCALE : 3/8" = 1" “x 1" x 062" 1% x 1" x 062" CO P ST

Conl Alum. ANGLE Cont. Alum. ANGLE (Typ. AT TOP & BOTTOM SLABS)

F.B.C. (High Velocity Hurricane Zone)

CTION PERFORMANCE SYSTEM 1 ACCORDION SHUTTER DRAWN v

(OPTIONAL)

(OPTIONAL)
» SECTION E1 sue sy Y
/

NOJE :
SECTIONS SHOWN _CAN BE COMBINED

SCALE : 3/8° = 1" \ FLORIDA STORM PROTECTION ACCORDION MFG, INC. 5/4/06
: - I I P Y- DATE
IL E c o INC. 16215 SW 117TH Afslz umr #24

TO SUIT ANY INSTALLATION.

MiAMI, FLORIDA 331 _
(SEE NOTES) ' JQ’;’-LE’};S,,,"QG & ENGINEERING COMPANY PH(305)5 e dBs, Fax (3051971 ~0384 06-110
- (MW'E Ja ga;m(m)an-rm T T T T T orawive mo
> S WALTER A. TILLIT Jr. P, E. f} - - 3 - =
L 17 7008 FLORIDA Lic. § 44167 : - - ~ - —{ SHEET 4 OF 6




* MAXIMUM DESIGN PRESSURE RATING o B e sl A e
"W" (p.s.f.) AND CORRESPONDING

(VALID FOR SECTION A ON SHEET 2).

MAXIMUM DESIGN PRESSURE RATING “W" (p.sf) AND ~  MAXIMUM DESIGN PRESSURE RATING "W" (p.af.) AND
CORRESPONDING MAXIMUM ANCHOR SPACING (in) SCHEDULE, + CORRESPONDING MAXIMUM ANCHOR SPACING (in) SCHEDULE, +

L

MAXIMUM SPAN "L” SCHEDULE WALL MOUNTING WALL MOUNTING (VALID FOR SECTIONS B, B1, B2 ON SHEET 2). (VALID FOR SECTION C ON SHEET 3).
INSTALLATION INSTALLATION
(VALID FOR SECTIONS A, B, B1, B2, C & C1 ON SHEET 2 & MAXIMUM AT TOP OR BOTTOM | AT TOP OR BOTTOM FLOOR/CEILING WALL MOUNTING WALL MOUNTING
N DESIGN LOAD (TO_CONCRETE) (TO_MASONRY) MOUNPTlI\é)GRll*IJBSJ#CIJ_ATION INSTALLATION INSTALLATION
ESt T0 M AT TOP OR BOTTOM | AT TOP OR BOTTOM
NOTE: W' (pst) SHUTTER SPAN SHUTTER SPAN DEaMM 5 | (To CONCRETE) DM 5 | (10 cONCRETE) (TO MASONRY)
DESIGN PRESSURE RATING CORRESPONDS ONLY TO NEGATIVE PRESSURE 5'-0" I5'-0" 8'-6" §'-0" i5'-0" 8'-g" wappit "
{SUCTION) LOADS, IN ACCORDANCE WITH ASCE 7-98 CRITERIA FOR A OR LESS|TO B'-6°[TO MAX. JOR LESS|TO '-6°|TO MAX. W (ps.f.) SHUTTER_SPAN W (p.s.f.) SHUTIER SPAN SHUTTER SPAN
GVEN OPENING. IF NEGATIVE PRESSURE VALUES COMPLY WITH THE ALLOWED ALLOWED 5-0" ls'-0" |a'-e* 50" |5-0' |g-e |s-0* |s-o" |o-&"
REQUIRED PRESSURE FOR THME OPENING, THE POSITIVE PRESSURE WILL OR LESS[TO 8'-6"|TO MAX. OR LESS{TQ 8'-8"|TO MAX, |OR LESS{TO B'-6"[TO MAX.
AUTOMATICALLY QUALIFY AND NEED NOT TO BE CHECKED. 9 9 9 9 8 4.5 ALLOWED ALLOWED ALLOWED
MAXIMUM SHUTTER MINIMUM SEPARATION FROM g g 9 9 g 6.5 FROM 9 9 8.5 FROM g 9 g 9 9 6.5
SPAN FOR SECTIONS TO GLASS (in. 40.0 TO 60.0
MAXIMUM " (1) o SECT,gNs) 9 g g 9 g 400 TO 600 | 9 9 9 40.0 T0 600 | 9 9 9 9 9 9
DESIGN LOAD
W' (p.sf) | B BY, B2 A FROM 8 9 9 9 ¢ 3 9 9 9 9 g 9 9 9 9
— C’f'C; _ —— . - 5600 10 75.01 9 9 9 9 55 5 9 9 8 FROM 9 9 9 9 7.5 5
- - 3" 3 FROM
— — - . g g 9 9 | 85| &5 >60.0 T0 750 9 9 8 >60.0 T0 750} 9 9 g 9 9 | a5
45 13'~8 11'-8 3 3 . TR 5
0 T PIRFT - 7 FROM 3 : 9 9 9 9 9 9 9 9 9
55 12'-5" 107" 2 3/ » 2 ,/2.. >75.0 TO 90.0 9 8.5 8.5 ] 4 4 crom 9 8 7 oM 9 9 9 9 I 5.5
60 11°-10" 10'-1" 234" | 2172 g s 9 s 55 | 55 >750 T0 900 9 | &5 | 75 >75.0 T0 0.0} ¢ 9 9 9 9
65 17'-5* 9'-9" 2 3/4" 2 1/2" FROM 9 725 1 75| 45 - - 9 g 9 9 9 9 8 9 9
70 11'-0" 9'-4" 2 3/4° 2 1/2* >80.0 TO 120.0f 9 7.5 7.5 6.5 3.5 - 9 9 9 g g 4.5 4.5
75 10'-7" 9’1" 234" | 21,2 9 9 9 9 5 - FROM 9 | 65 | &5 FROM 9 9 8 9 7
80 10'-3 8'~9 2 3/4 2 1/2 o 8 8 - _ . - >90.0 To 1200 P >90.0 T0 120.0f ¢ P P Py P
10’_ l_ " o L
& i 26 234 | 2172 >1200T01700{ 8 | 8 | - | 35| 35| - 7.5 - 9 | o | - | 5 | 5] -
90 9'-8" 8'-3" 2 3/4" 2 1/2" _ P . — — . . . —
95 95" 8'-0" 23/4" | 2 172" FROM 72 FROM '
D . 8 8 - - - - >120.0 TO 170.0 a5 _ >120.0 T0 170.0] ¢ 9 _ P 9 _
100 9'-2 7'-8 2 3/4" 2 1/2" FROM i
105 90" 7 4" 2 3/4" 2 >170.0 TO 230.0 8 8 - 3.5 3.5 - - 9 9 - 45 4.5 -
110 8'-g" 70" 2 3/2" PY 9 9 -~ 5 5 - FROM 6 - FROM 9 ] - 6.5 6.5 -
115 g7 | 6-8" l234" | 2 MAXIMUM DFSIGN PRESSURE RATING "W" (p.a.f) AND 2170010200 85 | 85| - R sl s [ -l sl s ] -
120 8'-5* §'-5" 2 34" 2" CORRESPONDING MAXIMUM ANCHOR SPACING (in.) SCHEDULE, +
125 83" 8'-2" 2 3/4" 2* (VALID FOR SECTIONS C1 ON SHEET 3). ANCHORS LEGEND
130 8'-1" 5'-11" 2 3/4* 2" WALL MOLUINTING WALL MOUNTING ANCHOR TAPCON OR
135 7o | 58" 21/ > INSTALLATION INSTALLATION + MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS VN, MAXI~SET_TAPCONS
— 7 , . MAXIMUM | AT TOP OR BOTTOM | AT TOP OR BOTTOM 3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN el SPACING EALKIN
140 76 5-6 2 1/4 2 DESIGN LOAD (TO_CONCRETE) (TO_MASONRY) 3 1/2", REDUCE ANCHOR SPACING BY CRETE_FLEX SS4
145 7'-3" 5'-4" 2 1/4" 2" "W (p.s.f.) SHUTTER SPAN SHUTTER SPAN MULTIPLYING SPACING SHOWN ON SCHEDULE BY TAPCON OR 3.0"
150 7'-0" 51" 2 1/4" 2" Y A ik A A iy THE FOLLOWING FACTORS. (NOTE : Min. MAX|—-SET TAPCONS )
OR LES! ‘—g" AX. JOR LES '~6“{TO MAX. h 1
L T e D M-l I Tt e KRNl
a_7u 41 ” » ’ i . ETI
160 7 | 410 j 2047 | 2 com s | s s | 9 | 45 SPACING OBTAINED USING FACTOR SHALL NOT 3000 psi. (MiN.) CONCRETE i
165 6’-5" 4' 5” 2 1/4 2" ©0o0To 600 9 9 9 9 9 | 65 BE LESS THAN MINIMUM SPACING INDICATED FOR CRETE—FLEX SS4 3.0
170 8'~2 4'-6 2 1/4 2" 9 3 9 9 9 9 EACH ANCHOR TYPE AT ANCHORS LEGEND. 3350 psi. (MIN.) CONCRETE
175 6! 0" 4I 5” 2 1/4" 2"
9 9 9 9 6 3.5 b it e
160 5-10" 4-3" 2 1/4" 2" FROM . 5 v ACTUAL E. D. FACTOR sved &8 complylng with the
185 5_g" PO 214" Py >60.0 TO 75.0| 9 9 | &5 - T v
190 57" 41" 2 7/4:: 2% g 9 9 9 9 7.5 I '
3
195 5'-5" 3~11" 2 7/4" PL FROM 9 g 9 g 3 2 1/2 .75
200 5-3" 3~ 2 174" 2" >75.0 T0 90.0| 9 s 9 9 | 35| 45 2" 50
205 52" 3 9" 2 1/4" 2" 9 9 9 9 9 6.5
210 5'-0" 3'-8" 2 1/4" Fa 9 7.5 7.5 7 - -
215 4'-11" 3'-2" 2 1/4" " : : ;
. — 2 2 FROM S 1 751 751 9 | 35| 35 F.B.C. (High Velocity Hurricane Zone)
220 4'-9 J'-6 2 1/4 2" >80.0 TO 120.0] ¢ 9 9 9 5 5
225 4-8" | 35" 2 1/4" 2" P S B B R PERFORMANCE SYSTEM 1 ACCORDION SHUTTER o o
230 47" 3-4" 2 1/4" 2" —
FROM g 7 - 45 J - FLORIDA STORM PROTECTION ACCORDION MFG, INC. 5/4/06
>120.0 TO 170.0 _ _ #17) DATE
FOR_SHUTTERS INSTALLED WITHIN THE FIRST 30'-0" ELEVATION 9 s 85 | 45 I I
OF BUILDING MEASURED AT BOTTOM OF SHUTTER. > 5 = Z Z ~ ILIECO ixe. 76215 S J1TIH AVENUE, UNIT 424
TILLT TESTING & Encmmwua COMPANY PH.(305)87 10383, FAX{I05)971-9384 06-110
** FOR SHUTTERS INSTALLED ABOVE 30'-0" ELEVATION OF BUILDING, > 7 _ _ B e R agg N e 1% - :
MEASURED AT BOTTOM OF SHUTTER. '70 gRgoM 2300 == e~ P R % | ocsownow | oaie | hvime | oesomenon [ oaw | DRAWING No
> B . - — - - 3 - -
s | ¢ 45 | 45 JOU T7 7006 WEGRA ey ater ; —— - —] sweer 5 o 6




1/4" @ LAG SCREWS 1/4" 8 LAG SCREWS
L @60 C W/ 1 1/2 \ﬁ 06°0.C W 11/er

y Min. THREADED PENETRATION Min. THREADED PENETRATION
g TO EXISTING WOOD HEADER TO EXISTING WOOD HEADER.
#1435 s, 1/4° #-20 S, S. BOLTS e o ggofg FeR e
b S M S W/ 7/,5 1% Min. W/ NUT & WASHER 0" g T I T 24" 0. C. REQUIRED
8 # % 7/8" LONG 8 O OR 414 x 374 ‘ z
: NYLON BUSHING (Typ. ? rfotEy _— | s msesdc P — -
TOP & BOTTOM) sl £ 14x3"5 85 5 M S T 1* % 4" x 1/8" (Min.)
. W/ 7/18" 8 x 7/8" -
‘ . g ~F 14x2°8 S B— /; LONG’ NYLON ‘BUSHING — 3,0/5‘}3)765‘ I BE, one
S i L1/ 8 M.S (Tp. i ¥ (Typ. TOP & BOTIOM) 545 EACH RAFTER OR TRUSS.
3 i TOP & BOTTOM) : ‘o LopaTE SoREWS AT MIDWIDTH OF EXISTING
W il : = g = WOOD MEMBER, (2" Min. NOMINAL WIDTH)
AR ! i ! I —EOR-E0~ 1 W/ 2 1/2" Min. THREADED PENETRATION.
T ! i ! L-# 14 x 2”85 S
: ! b 1 ! 1Y} S M S (p ToP ®— | e # 14 x 3"5. 5 5 M S W/
! WOOD HEADER L L i ! {1l & BorTom) 1 7/16* @ x 7/8" LONG NYLON
¢ i WOOD HEADER j L T g3
! EERgggg;ﬂl)_E ! REQUIRED L ¥ 1 BUSHING (Typ. TOP & BOTIOM) y
! S U ® ' —@) or 14 x 3/4* L ~+
FR . SEPARATION—— @or @ ¢ SEE SCHEDULE @ 5 M. f o ¢ o./ el B der serEDULE FOR
LASS i '—‘@N’ @
-y {————FOR Min. SEPARATION t )
j_ 70 GLASS A 1 H TO GLASS
I8
ALTERNATIVE 1 ALTERNATIVE 3 o seme | I i
FAR Min, SEPARATION i i‘é
y. ya 70 GLASS L NG
H %ga
i NEy _oPnona
r1 . - V! ) 1/4" 8 x 1 1/2" LAG SCREWS T | BUSHING
i {3 - @ 4" 0. C. W/1 1/2" Min. THREADED i .
] 3 | fal ALTERNATIVE 1 &b " chondiolirsss NS
[l
r nl B o i L8 (NO FINISH ALLOWED)
+ 2% 4" o § 2% 4 ¥ %‘95
1 Woap PLATE i 8 woon pLaTE i Ney "} SEE,_SCHEDULE % J————
i ! . . ™ FOR Min, _| >
i H EN é{l ' [ SEPARATION e———
1 ™~ 70 GLASS — ]
I 7 e i X ]
: " OPTIONAL Hi ' & e
" RUSHING T |(7'0P/50770M) I i . . '9§ OPTIONAL 4
(TOR/BOTTOM) 1° M,,,. i g gg LISHING
N s 5 s IR ALTERNATIVE 3
1/4 LAG SCREWS @ 6" 0.C. My NUT & WASHER @ 9 H !

L4
1 1/2" Min. THREADED 0. C. OR f14 x 3/4

:

5. M5 @9%0 ¢

7 #14 x 3/4
! 1 S. M S ©
b b 12" 0. C.
" x " Woob

TN B
WOOD PLATE. 1/4" LAG SCREWS © 6" 0.C. . DECK REQUIRED
W/ 1 7/2' Min. THREADED T ] (NO FINISH ALLOWED)
! woon stup @ PENETRATION TO EXISTING I e
24 0, C. MAX, WOOD PLATE. mpm— ’ =
54 REQUIRED. E:_ |
I

S\ ALTERNATIVE o 5] T o s
: .ALIEENAILZE_Z i y PENETRATION TO EXISTING WOOD DECK.
L Qo @ ALTERNATIVE 2

THREADED PENETRATON To NYLOK BUSHING \ gz WAL NTING ALLATION (OFFSET,

SEE SCHEDULE ]

. F14x3"8. S
1/4" 8 LAG SCREWS & S. M. S. W/ 7/16"
6" 0. C. W/ 1 1/2" Min. ¥ x 7/8"° LONG

oy o - SECTIONS 8
0 a all 3 -
1/4" #8-20 S. S. BOLTS o [ X SCALE: 1/4"=1
W/ NUT & WASHER © 8" O.C. 2% 4* H R§ R
WO0D PLATE i : ,
£0-Lfed- M FEAURER 3 b e
#14x3"S S S MS _ NOTE : iz with $on
I | W/ 7/16" 4 x 7/8" — 214 x 3/8" WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE ngﬁ@% awe
LONG NYLON BUSHING ; . COMBINED IN ANY WAY TO SUIT ANY INSTALLATION, Flerlda
: SS. SMS. pate. 0d./ 63/ 1007
Fiﬂ (Typ. TOP & BOTTOM) 0 @ 12* 0. C. ¥
; L 1 RS n NOAY p6= 08 Odf 05"
E g 1/4* 8-20 S. 5. BOLTS NOTES - Milami Bage Produst Lo
| H J x2S s W/ NUT & WASHER-© 9° : Bivizie -(/é"’)/W\/
1 — . . -
| & W S (. ToP 0 COOR g1ex 4 1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND LOADS By
; & Borow) - M. S. - G LESS THAN OR EQUAL TO 75 p.s.f. AND 9'-0" Mox. SHUTTER SPAN.
* - 1/4" LAG SCREWS @ 8" O.C. 2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
@ W/ 1 1/2" Min. THREADED PINE No. 2, W/ SPECIFIC-DENSITY OF 0.35 OR EQUAL.
©@er PENETRATION 10 EXISTING
WoOD- PLA . . .
FOR Min. SERARATION F.B.C. (High Velocity Hurricane Zone)
—/ , DRAWN BY:
ALERNAEM \\\\\\x PERFORMANCE SYSTEM 1 ACCORDION SHUTTER RSM B
I\ —

, = ALTERNATIVE 6 -I—-I———— FLORIOA  STORM PROTECTION ACCORDION MFG, INC, | 5/+/°5
L OUNTING INSTALLA OFFSET, / IL E C o iNC. \ 16215 SW ;??fﬁn'& UNIT fi24 =
SECTIONS A '

MIAMI, FLORIDA 33177
- TILLIT TESTING .t rnem:mnc COMPANY . g/ ) _ 06~110
SCALE: 1/4"=1" (memm\ 6355 N, Jaih, S, VRGNiA GARDENS, P 33788 PH.:(305)971-938J, FAX:(J05)971-9384

H—

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS e e e e i I

7N05 ‘ WALTER A. TILLIT Jr. P. E. Y = - 3 = -
177 7006 FLORIDA Lic. # 44167 SHEET 6 OF &

2 - - 4 - -




